28.4.20
WALT Calculate the missing sides of rectangles
[bookmark: _GoBack]Now find the perimeter of each rectangle.
Area = 8 cm2
4 cm
Width = 2cm
Perimeter = 12cm
Area = 16 cm2
4 cm
Width = 4cm
Perimeter = 16cm

Area = 20 cm2
Length = 5cm
Perimeter=18cm
4 cm
Area = 45 cm2
Length = 9cm   perimeter= 28cm
5 cm
What could the lengths and widths of these rectangles be?
Area = 12 cm2
Width = 3cm
Length = 4cm  perimeter=14cm
Area = 12 cm2
Width = 2cm
Length = 6cm     perimeter=16cm
Area = 
12 cm2
Perimeter = 26cm
Length = 12cm
Width = 1cm

